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1) Defines3vanablesx,y,t

2) hekes ZFXXORY
Logic.circuit equivalent to XOR
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Logic variables allow.US

to

_

rewritean IF-THEN

as a formula.

Example:

ï _ is(X > 7){
y= yet

}

Exercise:Writethis
conditionedas

a formcla:

Solution= Yt(X77)
This is moreefficient:Nobranching

prediction neededby CPV
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0 5 truth table of NOT(if we interpret
5,as 1

Or as of,
Hence,transitoryprovidesa switch
or NOT gate

resistor
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var x=1 var y=0 var a= x || y var b= !x var c= !y var d= b || c var z= a && d // What will alert message show? alert( z*(3+5)+(1-z)*9 )
Exercisesolution(seepages)


